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011 mEh&f& 1,454,485 1,162,900 291,585
01 EHIEEEZBAE 0
02 Kk 1,355,040 1,091,910 263,130
03 fEDh=E 99,445 70,990 28,455
01 =R 71,710 42,060 29,650
02 IRRFFEH 27,735 28,930 -1,195
03 MEEREWR 0
04 HIRE 0
05 &% 0
06 E55|E5%E 0
07 ZOMDEI=EE 0
08 ZDfDREIEE 0
012 EE&E 0 0 0
01 JEHAfEAE 0
02 REMEAE 0
03 EEEREAE 0
04 RHIEE&EEfEAR 0
05 RHIFEDE 0
06 BEES5IHE 0
07 HUNFEESISE 0
08 ZTDMD5|=E 0
BIEDEISET 1,454,485 1,162,900 291,585
013 EXzE: 0 0 0
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016 RERMEHGEENNSZ ZRA 1,171,713 -58,900 1,230,613
01 IREAMGBUEENINSZ Z=5E 1,171,713 -58,900 1,230,613
02 (SEHHEREENINZZARE) 1,230,523 -58,900 1,289,423
TEEDEISET 1,171,713 -58,900 1,230,613
BEMUHEEDESET 2,626,198 1,104,000 1,522,198
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